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NALOGA 1A:  

Justin Time – child number 1 

Chelsea – child number 2 

Doctor X – an evil doctor who wants to destroy the world 

 

NALOGA 1B: 

Picture A: Doctor X's computer is falling into the water. 

Picture B: Justin is taking the briefcase with the computer.  

Picture C: The computer is sinking to the bottom of the sea.  

Picture D: Justin and Chelsea are getting into the boat and hiding behind the 

seats.  

Picture E: Chelsea is standing by the door with the blanket.  

Picture F: Justin is lying on the bed and Chelsea is sitting on a chair.  

Picture G: Chelsea is throwing the blanket over the guard's head.  

 

NALOGA 2:  

A 6 

B 5 

C 7 

D 4 

E 2 

F 1 

G 3  

 



NALOGA 3A:  

1. Because with the computer she could control all the world's satellites.  

2. I threw the blanket over the guard's head when he came inside and my 

friend grabbed his keys.  

3. I locked the guard in the room.  

4. I ran to the harbour.  

5. Because Doctor X wanted to go to the secret island with the computer.  

6. Doctor X put the briefcase on the seat and started the engine.  

7. Because I hid behind the seats.  

8. I jumped up and took the briefcase.  

9. The briefcase was open and when Doctor X grabbed it, the computer fell into 

the water.  

10. Because she couldn't swim.  

 


